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Two things you must know:
1. A letter after a larger value letter means you add it:

E.6. XTis10+1=110r CXis 100 + 10 = 110

2. A small valued letter before a big one means you take it away:
E.6.IXis10-1=9 or XCis 100-10=90

Work out what numbers these Roman numerals represent

1. VI=__ 3.CL= 5.LIX=___
2. VIT=__ 4 LX=___  6.LVIII=__
Write these numbers in Roman Numerals
1.10=__ 3.50=____ 5.73=____
2.130=___ 4.161=_ 6.157=___
Challenge:

Solve these roman number sentences, write the answer in humbers.
1.LX + VIII = 2.LXT+LVI= 3.CXVI+XIX= 4 CLXIV+LXIV-=
Solve these number sentences; write the answer in roman numerals.

1.12+26 = 2.532+42 = 3.187 + 51=
4.452 + 47 = 3.357+35=

Mr Spencer says that CL + CLV = CCV. Is he correct? Explain your answer.

Mrs Fenton says that LVIT + LVI = CI. Is she correct? Explain your answer.



